Scenario 1

50% Q-Stable for each I-CARE region

What seems right with this scenario?

What concerns you about this scenario?

What conditions are needed for you to be able to
implement this?

What support would you need to put this in place?

What will keep you from implementing
this scenario?

Scenario 2

50% Q-Stable for each |-CARE region
with a 10% cap

What seems right with this scenario?

What concerns you about this scenario?

What conditions are needed for you to be able to
implement this?

What support would you need to put this in place?

What will keep you from implementing
this scenario?

Scenario 3

1009% Q-Stable for each I-CARE region,
20% step every 5 years

What seems right with this scenario?

What concerns you about this scenarip?

What conditions are needed for you to be able to
implement this?

What support would you need to put this in place?

What witl keep you from implementing
this scenario?



